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FIRST MIDTERM EXAM
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L. Find the volume of the solid obtained by rotating the plane region R bounded
byy=z+1andy=1"+1between r = 0 and z = 1 about
a) the z-axis using plane slices




2. Determine whether the given series converges or diverges by using any appro-
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3. (a) Determme the centre, radius, and the interval of convergence of the given power
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(b) Find the Taylor series representation of the function f(z) = In(2+x) in powers
of x — 2.
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(a) Find the Maclaurin series for the function J(z) = dt .
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